Multiplicar Tres Polinomios (C)

Simplifique cada expresion.

1. (2a* — a*)(3a® + 8a®)(6a® — 8a — 1)

DO

(5% = ¢)(8¢° — 4ch)(9¢t + 9¢% — 3c?)

3. (=9d° + 9d*)(8d* + 4d®)(—8d° + 5d* — 3d°)

B =T8> = 9f ) (=2f —6f* —5[°)

W

(P =6 (=5 BT T)
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Multiplicar Tres Polinomios (C) Respuestas

o

Ut

Simplifique cada expresion.

1. (2a* — a*)(3a® + 8a®)(6a® — 8a — 1)
= 36a” + 30a® — 1584 + 51a% + 8a°

2. (5c* — ¢)(8¢” — 4c")(9¢* + 9¢® — 3¢?)
= 360c™ + 108¢! — 336¢° + 120° — 12¢7

3. (=9d° 4 9d*)(8d* + 4d®)(—8d° + 5d* — 3d*)
= 576d" — 648d" + 10842 + 724" — 108d"°

LB T8 = 9f ) (=2 — 6f* =57
— 4813 + 8612 — 180! — 52310 — 3157

(fP =6 ) (=52 + B +7f=7)
= —40f10 + 21317 + 204 % — 259 7 4 42©
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